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The booklet contains 75 questions.
Examinee is required to answer any
65 questions in the OMR Answer-
Sheet provided and not in the
question booklet. In case Examinee
attempts more than 65 Questions,
first 65 attempted questions will be
evaluated. All questions carry equal

marks.

Examine the Booklet and the OMR
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proceed. Faulty question booklet due to
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In
3 rﬁnftqu{up. Allocation system,

wh .
IS the term for the fixed-size

mMemaory
ory ht‘" K used to store a pro

Cegg?
(A) Page
(BY Frame
(O

(D)

Segment

Cluster

Which Page Replacement algorithm
requires Maintaining a counter for
€ach page to track the number of
times it has been accessed?

-(A) FIFO (First-in~First-Out}

(B) LRU (Least Recently Used)

(C) Optimal Algorithm -

(D) LFU (Least Frequently Used)
What is "Allocation of Frames" in the
context of memory management in

Ooperating systems?

(A) The process of dividing
physical memory into fixed-size
blocks. -~

(B) The process of assigning
memory frames to different
processes™

(C) The technique of moving pages

of memory between RAM and
secondary storage. *
(D) The

memory of processes before

process of allocating

they request it #

340\B\2024-25
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(31

What is & process in the context of
an operating systom?
{A) A program in execution

(B) A storage deyjce /

(C) A file system

(D) A peripheral device

Which memory allocation technique
is commonly used in modern operat-
ing system due to its flexibility and
efficient use of memory resources?
-(A) Contiguous Allocation

(B) Paging

(C) Segmentation

(D) Fragmented Allocation

What is a process ID (PID) used for
in Unix and Linux?

(A) Itis a unique identifier for a file
(B) It is a unique identifier for a

user -
{C) It is a unique identifier for a
process

(D) It is a unique identifier for a

device
P.T.O.
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c" *What Is the role of Page Tabie in vir-

10.

tual memory systems?

(A) To store pages of a book*

{B) To map logical addresses 10
physical addresses -

{C) To manage file storage

(D) To control device drivers™

In Unix, which command is used to

terminate a process?

(A) stop

{B) end

@ K

(D) terminate

Which scheduling algorithm provide

equal priority to each process in the

queuve?

{A) Round Robin

(B) First-Come-First Serve (FCFS)

(C) Shortest Job Next {SIN)

(D) Priority Scheduling

In Time-Sharing Systems, the CPU

is shared by multiple users by using:

(A) Dedicated processors

(@) Time slices for each process

(C) Memory-only allocation

(D) Batch processing-

3040\B\12024-25

y Real-Time Systems are primarily

used in:
(A) Office environments

(B Gaming applications

AC) application ke

Time-critical
medical devices and industrial

control
(D) Educational environments

o
L'li. Fixed memory allocation refers to:

(A) Dynamic memory allocation
{B8) Memory allocation that does
not change during runtime

Allccation based on user inputr

+C)

A{D) Allpcating memory to a single

application only

13. Which scheduling algorithm assigns

the CPU to the process with the
shortest burst time?

(A) Round-robin

(B) Priarity scheduling

(@) Shortest Job First (SJF)

(D) First-Come, First-Served {FCF5)

(4. In windows, what is the nam! of tre

synchronization primitive used 10
protect critical sections of code?
{A) Mutex

(B) Semaphare

(C) Barriery

(D) Lock

https://www.rmpssuonline.com
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15, Which of these In an area for tempo-
|

'16.

rary memory storage?

(A) Register

(B} Frame

(@) Buffer

(D) Accumulator,

Which technology is used in CD

(Compact disk)

, (A) Electro Magnetic

(B) Laser
Qﬁl Mechanical

(D) Electrical

|?’ When does Page fault occur?

————

(A} The page is present in memory

{B) The deadiock occurs

AC) The page does not present in

memory

3040\812024-25

18. What is the contiguous allecation?
(WY Each file must occupy a set of
contiguous block on the disk
(B) Each file is a iinked list of disk
Block
(C) Block are placed together in
one location
D} None of these
@"5. Virtual memory use disk space as on
extension of.....
(A) Secondary storage
-(B) Primary storage -
@ Main memory
(D) None of these
} Which of the following operating sys-
tem does not support more than one
program at a time?
(A) Linusc
(B) Windows
(C) MAC

{D) DOs

[5] PT.O.
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21. In a 5imple Batch System, how
are jobs typically submitted for
execution?

(A) By typing commands into 2
command -line interface. ~

(B) Through a graphicai user inter-

face
25.

(@) Via punched cards or job quéuesd
(D) By downloading them from the
_ internet 4
i 22. In a Time-sharing System, what
happens it a user exceeds their alio-
cated time slice for a program?
(M) The program is terminated
(B) The system reboots
(C) The user s locked out of the
system
(D) The time slice is extended auto-
matically -
23. What i1s the term for the area of

secondary storage where swapped-

out memaory pages are stored tem-
3. which scheduling algorithm assign

porarily?

(A) The cache

(B) The page table

(€) The swap space of swap file

(D) The kernel

3040\812024-25 (6]
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24

.- what is mhraghing” in  virtual

n UNITX, which scheduling criterion

is used in the defauit lime-sharing /

scheduler? |
(A) First-Come-First-Serve (FCFS) |

(8) Priority Scheduling

(C) Round Robin

(D) Shortest job Next (SIN)
what is the full form fo BIOS?

{A) Between input-output system

AB) Binary input-output system
(G Basic input-gutput system
{D) Al of these

memory systems?
_(A) Excessive swapping of data\

between RAM and disk, caus-
ing a slowdown *

(B) Temporary bhalt in memur*

operations
(C) The use of outdated data if

memarye»
(D) Allocating too much memory t4

a single process

CPU time hased on process priority
{A) First -Come First-Served

(B) Shortest Job First

(C) Priority scheduling #

(D) Round-Robin h
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28. Deadlock prevention aiMs to:
(A) Avold all walting conditions
{(B) Prevent at least one of the nec
essary deadiock conditions
JC} Ensure all resources are allo-
cated to one process
£D) Allow only one process to run at
a time
J" In Windows, which utility atlows
you to view and manipulate running
processes, including ending them?
(A) Task Scheduler
(B) Task Viewer
AC) Task Manager.
(D) Process Explorer
_530". In deadlock avoidance, the Banker's
Algorithm checks for:
(A) Maximum resource utilization
(B) Safe states where deadlock is
avoided
Memory

(C) Mintmum require-

ments

(D) Number of processes anly

J040\B12024-25

F&~ Which component of an operating

system is responsible for managing
hardware resources and providing
services for software applications?
[A) Kernel

(B) Compiter

{C) Debugger

{D; User Interface

}Z.‘ Which operating system s known for

its commanc-hne interface and is of-
ten used in server environments?
(A) Windows

{B) MacOs

_{C) UNIX

(D) Android

33.- Which file system 1s commonly used

o

(7]

0 Windows operating systems for
Argadming and managing data on
storage devices?

4AY NTFS

(BY Extd

(CY FAT3?

(DY HFS+
P.T.0.
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4. What is an operating system (0S)?

(A) Atype of computer hardware

£B) A collection of computer
programs

(C) A set of input and outpul
devices

(D} A central processing unit (CPU)
35 In Umix, which scheduling policy
allows a process to run untid it vol-
untarily gives up the CPU?
{(A) Round Robin
(8) Preemptive Scheduling
(G} Cooperative Scheduling
(D)

96, In memory management, what 1S

Shortest Job Next {SIN)

the difference between logical and

physiCal agdress space”

{A)} Logical addresses are used by
the hardware, physical address-
es by saftware

(B} Loguai addresses are generated
by the CPU, physical aadresses
are loCations 1IN Memary

{C) Both terms refer to the same
concept

(D) Logical addresses are  for
storage devices only

3040\B12024-25

37. Which Windows OPe€rating systam
introduced the conCept of the »gyy 4+
menu and taskbar?

(A} windows 95
(B) windows XP
(C) Windows 7

(D) Windows 10

33 In the context of UNIX, what is the

primary function of the "Shell"?
4A) Managing hardware resources
(B) Handling system calls
(C) Providing a user interface ~
(D) Managing file permissions «
which of the following is a com-
mand -line shell commonly used in
Windows operating systems?
{A) Bash
(B). Power Shell

() Terminal

AL) Command Prompt

https://www.rmpssuonline.com
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#9 Which mechanism IS commonly used

41.

for inter-process communication and

synchronization in UNIX?

(A) Semaphores .-

(B) Mutexes

(C) Condition variables

(D) Spinlocks

Which of the following memory
management techniques uses pages
and frames?

AA) Segmentation

{8y Paging

(C) Swapping

(D) Contiguous allocation

AC) The error s

"( Which component of a Simpie Batch

System is responsibie for Managing
the execution of jobs in the queue
and allocating system resources?
(A} Command Interpreter

(B) Scheduler

(C) Device Driver

(D) Compiler

¢4 In a Simpie Batch System, what

happens if a job encounters an error

during execution?

(A) The job is automatically
restarted

(B) The system crashes

logged, and

the next job in the queue s

42. What is the primary advantage of executed.
using a Simple Batch System for job (D) The user is notified, and they
must manually correct the error
processing?
What modern operating systems
((AJ High-level security for use data.
have evolved from the concept to
B) Efficien ‘ '
(8) lent  multitasking  and Muiti-programming Batch Systems,
muititasking capabilities. Incorporating advanced multi-task-
(C) Automation and efficient ing time shanng features?
utilization ~ of  computing (A) Windows and i0S
reSOUrces. (B) MacOS ang Linux
C) UNIX and Lin
(D} Compatibility with modern soft- © >
_{D}) Windows and UNIX-like
ware applications.
systems
3040\B\2024-2% [9) PT.O
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»

ﬁﬁp Which page replacement aigorithm
replaces the page that has not been
used for the longest period?
(A) FIFO
(8% LRU
{C) Optimal
4D} Clock -

#9. Which PC operating svstem is known
for its widespread use in the business
world and is often used on desktops
and |aptops?

(A} UNIX
{B) Linux
AC) Windows
(D} macDS
@ Which component of a PC operating
system s resporsible for managing
fite storage and crganization?
(A) Device Manager
{B) File Explorer (or Finder in
mac05)
{C) Command Prompt

(D) Kemel
3040\812024-25

!a. which

50.

[10]

programMing  paradigm
is commonly used for deveioping
paralle! applications for system with

multiple processors or cores?

AA) Object-Oriented  Programming

(O0P)
{B) Procedural Programming
109 parallel Programming -
(D) Functional Programming
Which widely-used network protocol
suite is often employed in Distribut-
ed Systems to enable communication

and data exchange?

AA) HTTP/HTTPS

(8 TCP/IP
(C) SNMP
(D) POP3/SMTP

Which component of a Distributed
System is responsible for managing
communication between different
nodes or computers?

(A) Compiler

(B) Scheduler

{C) Network Operating Syétem

(NOS)

(D) File System

https://www.rmpssuonline.com
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53.

54.

What programming paradigm Is

commonly used for developing Re-
al-Time Systems?

{A) Object-Qriented Programming

(0OOP)

(B) Procedural Programming
-(C)
(D)
which of
characteristics of a Simple Batch

Event-Driven Programming

Real-Time Pragramming -

the following is @

System?

{A) Supports multiple users simul-
taneaus'y

jobs

Pracess=s sequentially

e
without user interaction

(C)
AD)

Has gut line Pracessing only
Supports time-sharing for mul-
tiple processes

What is the goal of multi-level queua
scheduling?

(A) To prioritize processes based on

their age

AB) Toensura that all processes are
treated equally

(C) To group processes into dif-
ferent categories and assign
prionties to them

(D)} To minimize the number of

context switches

3040181202425

55, In a virtual memory system:

56.

(Y]

what

is the purpose of the Memory
Management Unit (MMU)?
(A) Itis responsible far storing data
in physical memory.
(& It

addresses generated by the

translates logical
CPU into physical addresses.
(C) It manages memory allocation
for all running processes
graphical

memory

(D) It provides 2

user interface for
management

Which memory allocation method

typically results in external fragmen-

tation?

(R) Contiguous Allocation

(B) Paging

(C) Segmenfation

(D) Demand Paging

Which synchronization mechanism

allows a process to wait for a specif-

iC condition to became true before

proceeding?

{A) Mutex

(B} Semaphore

AC) Condition variable

(D) Barrier
P.T.O.
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S8, In a multiple-processor system, how
are processes typically scheduled?
}Al Processes are scheduled based
on a single CPU queue
(B) Each processor has its own
scheduling queue
(C) Processes are not scheduled In
multiple-processor systems
(D)} The gperating system does not
manage scheduling in these
systems
5. After detecting a deadiock, whal is
one way to recover from it?
(A} Restart the entire system
(8) Terminate 3l processes
[(C} Terminate one or more dead-
locked processes
(D) Remove 2l resgurces from
memory
$0. Which of the following devices would
typicaily be a shared device’
(A) Keyboard
{B) Printer
{C) Monitor

(D) All above

3040\B\2024-25
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61 Disk scheduling algorithms are
primarily used to:
<!M Improve the data retrieval
speed from the disk
(B) Manage system security
(C) Load programs into RAM
(D) Control access to CPU
62 Which of the following is a secondary
storage device?
(A) RAM
(B) CPU
_AC) Hard Disk
(D) Register
63: Swap space management is used to:
(A) Control the CPU
[B) Manage memory overflow

(C} Store active processes

(D) Permanently store data

https://www.rmpssuonline.com
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(é/, which file access method allows
reading or writing data in a sequen-
tial order?

AA) Indexed access ©
(B) Random access
87 Sequential access
(D) Direct access
C@ In a file system, free space manage-
- ment is used to:

48 Keep track of unused space on

~

@7 in Windows, which application would
you use to play audio and video files?
(A) Control Panel
(B) Task Manager

{C) Media Player
(D) File Explorer
Which feature in windows displays a
list of installed programs and options
for system settings?

@Yy Control Panel »~

disk https://www.rmpssuonline.com

{B) Allocate files to memary«
{C) Delete user datat
AD) Schedule files for access <
ﬁ In Windows, the Start menu is pn-
marily used to:
{A) Close applications
JB) Access programs, files, and
settings
(C) Display desktc;p icons
(D) Manage network settings only

3040\B12024-25

[13]

(B8) Task Manager .
_(C) My Computer ~

(D) Wwindows Explorer

@ To arrenge icons on the Windows

desktap, you can:

(A) Onily manually move them

Use the "Sort By" or "Align to

AB)
Grid" options
(C)

Remove all icons

Lock the screen

(0)
PI0O.
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20. CPU scheduling is the basis of ..... /\) The Address generated by the CPU is

(A) muRtiprogramming  operating refereed to as......

ical Address
systems (A) Phys
#B) Logical Address
(B) larger memory sized systems
(C) Virtual Address

(C) multiprocessor systems
{D) All of these

(D) none of the mentioned 74. In a file System what is the purpose

Y. Physical memory is broken into of a directory?

7Z. Which

fixed-size blocks called

(A) Pages

(B) Backing store
_(C) Frames

(D) Page offset
Scheduling algorithm
allocates the CPU first to the process
that request the CPU first?
{A) First-come, First served

scheduling

(B) Shortest job scheduling

(C) Priority scheduling

(D) None of these

3040\B\2024-25

_(A) To speed up the'CPU

(B) To store system configuration
files qniy

@y To organize files into a
‘hierarchy

(D) fo act as a temporary storage

area

@5. Multitasking in operating system

allows for:

(A) Muitiple user to share a single

device

_(B) A single user to perform

multiple task at one time

(C) Devices to run without an S

(D) None of these
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